ID
1316 22 22 4 16
B B
[0 5™
2:0:
_______ v
0. . 19
01 06 01 03 21
-
27-3111 @
345
A 0
1/2
H21 35,634 1/2 21 35,634 10/10 H21 1,771,120 (B) 0
(IG)] 0
DO
1)
/ x 100
)
17 )| 18 ) | 19 20 ( ) |21 ( )| 22 )
20 30 37 50
A 0 0 20 30 37 50
1 1 1 1
240 240 240 20
(B) 0 0 960 960 960 80
(A) (B) 0 0 980 990 997 130
6 6 3 5
14 14 12 5
100.0 100.0 100.0 100.0

1/3




D 1316 | |

3)

19 4
19
22
SEE
r‘ D 3
W )
B S 3
v e\
10/10
1/2 1/2
I g 3
v e\
v M 3
- !
r‘ Q @3
v Q
— )
B e\ 3
B aE)!
1/2
v =y
r‘ M 3
v !
172 172
I B\ 3
v BN
r‘ = 3
v =

2/3




1316

ID

&)

©

(3

(PLAN)

«y

=

21

®)

@

L

L

®)

@

L

21

@

3/3



